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static void swap(int x,int y)

{
Int temp = X;
X=Y,
y = temp;

10.printIn("in swap:"+x+" "+y);

}
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int a=3;

int b=5;

swap(a,b);

1O.printIn("in prog:"+a+" "+b);

: swap nowaa
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:2 yop
int[] a= new int[5];
a[l] =3;
a[2] =5;
swap(a[1].a[2]);
1O.printIn("in prog:"+a[1]+ " "+ a[2]);

: swap nowaa
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static void swap(int[] arr, int p1,int p2)
{
int temp = arr[pl];
arr[pl]=arr[p2];
arr[p2] = temp;
1O.printIn("in swap:"+arr[pl]+" "+arr[p2]);
b
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int[] a= new int[5];
a[1]=3;

a[2]=5;
swap(a,1,2);

: swap nowaa

: TPYNIN NPONN2I

1O.printIn("in prog:"+a[1]+ " "+ a[2]);
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public static void Mark_Bonus( int mark, int point)
{
If (point==5)
mark=mark-+mark*30/100;
else
if (point==4)
mark=mark-+mark*20/100;
else

mark=mark+mark*10/100;
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public static void main(String[] args)

{

int mark, point; : VOPN

mark=10.readInt("nyna yrx vpn");

point=10.readInt("nynan MmN 1000 wpn"); : TPUNIN NPONNI 0797

[O.printIn(* oman Y51 ywsn " +mark);
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int Mark_Bonus1( int mark, int point)

D905 DMN Y97, )0TWN (DDY) 11N 791NN DXIVNID DNIN NN NYAPNN

(MIINNN N9 NN 90IN , NN Mark_Bonus Yv mx1nn N pnyn)



Mark_Bonus1 nY%yanm 197vnn 11080 NYAP5 MYNIN NPONN NIDIRNND MIXND G0N )
VYN NN DVN

: \Dbpﬂ
: TPYRIN NPONN1A VAN

(Mark_Bonus n9wyanmn)

(Mark_Bonus1 noyanmn)

01N ¥

'Mark_Bonusl -y Mark_Bonus mwan ya b1ann nn
DY22PNNN OMVNIIN *

nATNNN >0y *

0X159 N N2 NNV MAINPN NPIYND NYYIN : 3 NNIYN

DIVN TN apn NHwanw 75 Mark_Bonus n9yan Sv MmN NIMmon X M) N
SNIRNN2 Y DI 5W MTNIN 90N NN D¥INN TN NPPVNRNNI
Mark_Bonus(int[]tests, int[] units)
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int[] a=new int[5]
for (int 1=0; i<5; i++)
a[i]=i*2;
int[] b = a;
for (int i1=0; i<5; i++)
b[i] = a[i] +1;
for (int i1=0; i<5; i++)
10.print(afi]+",");
10.printin();
for (int i1=0; i<5; i++)
1O.print(b[i]+",");
10.printin();

14 PROYN
: N2 NIDINN YOP PN

119INN NNIN ND
10991 71PN DONYT 29D NN

PDIND NN NN
92PNV VOO N

? DONYON IR NNNIN NXINN ONN

(4 NNV NN DY
int[] b=new int[5];
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